Math 61 Spririg 2007

Name:

QUIZ #3 @ 85 points

Write in a neat and organized fashion. Use a pencil. Show all work to get credit.

1. In the given figure, name:

—_—

a) four radii o#, 0C, 0%, J
two diameters J‘C > 7S

c) three chords

/?> As > J‘L

<> <>

two tangents G¥ 5 BD

>
€) one secant &K

Given: DE=9, EC =4, EB=7

Find: AB
bty e
78,0c = xoen?S
0T = €

Thew, Ac- €8z CE0E

pe. 7= 47
. 3¢
/
= 3¢, /= ?é¢f‘?: _{;S.
I

-




Given arcs: m,?l} =120° and m@ =80°

Find:

a) mZAOB = m AB = /20

2 AT S = joo®
b) mZCFD :j/mcdatumj:z//zv,wo) /

Name another angle that is congruent with ZCFD: < AF 5

| - ] ,
¢) m{CBD = 2’;«64 = -?{[!o) = ¥o

Name another angle that is congruent with £CBD: < CH/)

~ oY °
d) msAEB = 4w AB = ‘2/(/20) = 60

Name two other angles that are congruent with ZAEB: < A’C@ and < /o5

. —



4. Given: AB and AC are tangents to QO , mZACB=75",AB=T7cm.

Find:
a) mét’ — P,
~ N < L.
m<4(g:_/mgc = mhL=2M
< =2(075) = /50°

b) mEDT? —
m BOC = 37— M BL
= 360"~ /50" = 2/
¢) mLABC
w<hB=  w Al = 3150275 © ’
dmsd = 2 éc 8oC - 4 ’5?) oiéﬁ,&.

7 o u J
S L (25 19) = 5(66)°3 \ wmed~ (0 LHS

e) AC = APB= 7 tem e Ol b %M‘( 4—6_4"‘! %W{Smf 9’5&”’4“’6
Aol %Mgmé o (D) pou X |

5. Given OO0 with mAZAOB =48

OA'=8in
Find and use correct units:

a) mAB = w < A0B = #& o Jin

A
— #x°
b) /AB
L4982 pan s L
g° " 360 — Eép
a3 = 320, B
/5
¢) Circumference of the circle .
Q:o'l'if: ,’27“47/4 = ey i~
d) Area of the circle 5 -
)= it 6577 e
~ - 2 7 <(/0 ’ J
e) Area of the sector AOB ’Q(V M)_~ _Z—[- =7 74&404) - g 26.0°
—— = - o
e '



4
Given: ©O Find:
ES||JK a) Zs1-5
mJK =78 b) mJE , mKS, KS,mJC
JE=5cm
Tl
<D
c </ Ty <5 <O
CCD —_ yatt -int¥s) clcs)  cxlf a7 ‘HS)
Wl = W\/K=7A’ @) m?: we /= S/°
<€os - Hraght 3 | ; = 1=%/°
LA w< =X 70° M ks = M<S =S
X AL <2 FX=[J0 \ _
s N ere — A=) = 56:;? r9’s
. ) . 204
Jlseeforo , <[z ST (x chocds ] =
| W2 = 7%° IH = orcs )
W<¥ =507
WeS =Sr°

7.Given: AB and AC are tangents to ©Q , with B and C on the circle and mZACB = 65°.
Find: a) mBE'

b) mBDC
c) mLABC
d) mZA

Sbluts v
a m(ﬁt@:é{"/?’l}iu) . , ]
6(5:}: W(ACB? JZ Y BC -:—')WBC :7(65-)‘—‘—{20
T s - w BC = 360 - 130 = 2307 m

@) wBbe = %o - . .
(© wm< ABC= m< ACR = 657 (/w’fﬁﬁe/f/../aw @r¢ (,)
@) AARCY w<H = 180~ w< B -wu<C
| = IQDOA,Q[5§‘°)

o ,@00'—} ’%Qo

= 507




